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Pattern) (Semester - II) (207003)

Time : 1 Hour] [Max. Marks : 30
Instructions to the edndidates :

1)
2)
3)
4)
5)

Q1) a)

b)

Q2) a)

b)

Attempt Q.1 010.2, Q.3 or Q.4.

Assuaé suitable data, if necessary.

Neat.diagrams must be drawn wherever necessary.
Use of-electronic pocket calculator is allowed.
Figures to the right indicate full marks.

Solve any Two [10]
i) (D?>+1)y=2sinx sin 2x
ii) (D?>-2D + 2) y = ¢* tanx (Use niethod of variation of parameters)

2
i) x° d 2}—4xﬂ+6y=x5

x dx

d ) d
Solve — =&V 0% 5]

3z—4y 4x—2zn2y-3x
OR

Solve any TWO {10]

i) (D?>-4D + 4)\y = " cos’x

3x

ii)y (D*°-6D+9)y= ¢ (Use method of variatien)of patameters)

2
X
. d’y dy
.. + 22 L 4 3(x+2) 2+ y=4cos[1htx +2
i) (x+2) 12 (x+2) PR [Ia¢x+2)]
Solve 151
dx
—-2x-vy=0
dt g
dy
—+x-4y=0
dt g

PT.O.
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03) a) Find the Fourier cosine integralCrepresentation for the function

,0<x<a
xX)= :
f(x) { 0. x> a [S]
b) Solve the integrahcquati jwf()' Andr=d - H0sAS [5]
olve the integral.equation x)sin Axdx = .
2D 0 0,221
c) Attempt thé-following (Any One) : [S]
1\
i) ,Rind Z-transform of f(k)= (Zj for all k.
. . 0 1
i1) Fmd Z ,2<‘z‘<3.
(z-3)(z-2)
OR
04) a) Attempt the following (Any Onej [5]

i)  Find Z-transform of f(k)#= 4" sin’ (2k +3),k > 0.

2
i) Find 27| 22 PR b
7" -3€A2
b) Solve the difference equation flk + 2) + 3 flk + 1) + 2 f(k) = 0, f(0) =0,
f(1) =1, using z-transfofrn. 5]
c¢) By Considering Fogtier cosine integrals of e™, (m > 0), proye that
© COSAX T
dA=s=—e™" ,m>0,x>0.
J-O A +m’ 2m 5]
umm
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